a+b | Integer Inequalities with Absolute Values

Name:

1]

Which sign makes the statement true?

976

B
Which sign makes the statement true?

71?74

|£J

Which sign makes the statement true?
8|73
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Name:

M

Which sign makes the statement true?

474

[+
Which sign makes the statement true?

87 |5

|ﬁJ

Which sign makes the statement true?

-8/75
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Name:

1#7]

Which sign makes the statement true?

57 [g|

[+
Which sign makes the statement true?

8|7 —5

|ﬁJ

Which sign makes the statement true?
2 7 |5
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Name:

#10

Which sign makes the statement true?

377

#11

Which sign makes the statement true?

97 —4

#12

Which sign makes the statement true?
2] 7 —1
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a+b | Integer Inequalities with Absolute Values Answer Key
Question Answer
#1 choice 2
#2 choice 2
#3 choice 3
#4 choice 1
#5 choice 2
#6 choice 3
#7 choice 1
#8 choice 1
#9 choice 1
#10 choice 1
#11 choice 2
#12 choice 2
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